Part-1/9m-1
Compulsory / aAfard

What is equity in teaching-learning
process ?
(A) To treat every student equally.

(B) To provide them support as per their

individual need.

(C) To provide them equal opportunity
to grow.

(D) To behave with the students equally
without any discrimination of caste,
gender etc.

ST - 37TeTH <hl Tfshan | =1 99T & 2

(A) T B & Y THM TR AT |

(B) STeh! SAfeRITTd HATERIhell b IFHAR
378 TERIA 9EH LT |

(C) 3= forehTd & THM 319 YgH T |

(D) Sfd, e 3mfe < wewra = fomr s
o H1Y FHH STIER HLAT |

The primary task of a teacher is

(A) To stimulate, motivate and guide :

students’ learning.
gg To teach good habits in students.
textbook units.
(D) To satisfy the expectations of the
principal, parents and society.

T TR187h T T

(A) BT o AR 1 Fiearfad, I 3T
T |

(B) BT ol 7=t 3T g |

(C) Fuifd  digashs 3 UTgAgEH

%1 TGHT |
(D) JaHEE, AE-Udr 3R ga 6
YT 1 I BT | (A)

What is the level of the following questions ?

like — ‘Prepare a diagram on ... ,
‘Explam the components / parts of ........ ) i

‘Conclude the characteristics of .......
(A) Understanding level
B) Analysis level
C) Creativity level
D) Application level
Smg FIERFATE ?
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To teach the prescribed syllabus and |

4.

6

was the educationist who gifted
Kindergarten Education System to the

World
Gijubhai (B) Dewey
C Herbert (D) Froebel
Terewmre favet yomeft w51 SuER feam an|
(A) Tﬂ—sms‘ (B) et
(C) &I (D) Whisid
MOOCs must contain the four quadrants
1E)er SWAYAM guidelines.
ich of the following is correct list and

sequence of these quadrants ?

(A) e-tutorial (video), e-text (reading
material), = self-assessment tests,
online discussion forum

(B) e-text (reading material), e-tutorial
(video), online discussion forum,
self-assessment tests

(C) e-text (reading material), e-tutorial
(video), e-tutorial (audlo) self-
assessment tests

(D) e-tutorial (video), e-text (reading
material), online discussion forum,
external assessment and certlﬁcatlon

SWAYAM % foan-faden & 31gan
MOOC T 4R =gafyr g4 =fge |
ﬁwl%i%aﬁﬁaﬁqwsﬁa@aﬁﬁﬁﬂﬁ
T 3T TR

(A)émﬁw@%ﬁ) 3-SR (TS

qrft), T -edTehd qhET, HATers
== 79 (BRA)

(B) -3 (Yad4 dmft), 3-TFIEd
(fifen), maﬁw(qﬁm),
- AT qEu

(C) 3-ea2 (Y3 dmfl), 3-TgeIfera
(aﬂ%ﬁ)qéza@fwa(w%ﬁ) -

(D)ée;e@f(amaﬂ%aﬁ) -3 (T
gmfl), e == g9 (BRE),
STEH JeAreh 3T JH0=
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10.

Which of the following is not the
example of qualitative research ?

(A) Ethnography (B) Survey

(C) Case Study (D) Focus Group
fraferfiea & @ &9 @1 TS Y H
IETET TR & 2

(A) Fofa-aviF  (B) Tee

(C) &tk AZFH (D) Hebfrad TG

Which of the following inferential
statistics data analysis technique will
you use for the data that is less than 15
and selected using Convenient Sampling
Technique ?

(A) A Variance Test

(B) A Parametric Test

(C) A Non-Parametric Test

(D) None of these

GiIaTSieh TR Tehileh BT ST
Hleh I T 3R 15 & Y ST o 1T 379
= o @ *F @t g anfessht s
TergeTeT qehftes 1 IUFTT BT 2

(A) T ferawor qhteqor

(B) Ush Yrafetsh qieqor

(C) T TITH(Teh Thequr

(D) 3T § 1S T

Which of the following is NOT a useful
software to analyse the data obtained
through research ?

(A) Microsoft Excel (B) SPSS

(C) SSPS (D) PYTHON

IAHYH b WEH F U HAfhSl I
v 1 & fou fafaRga g @ s @
TSR ST T8l & 2

(A) WISHIETTR T (B) THICHTH

(C) wougdied (D) YA

Which of the following types does NOT
belong to “Types of Interviews” in
research ?

(A) Structured Interview

(B) Unstructured Interview

(C) Personal Interview

(D) Impersonal Interview

freferfiga & @ ®F @1 YR IgHYH |
“HTRATesh R o T | T erd & & ?

(A) GIFEd BRI

(B) 3ITERIT ATRAThR

(C) afeaeh HTETTehR

(D) JraferTeh HTETTh R

LR A g
| TR SfieH o Wt ol HH TE a1 | SEa:
| Ao 379 ST S WEHISS! & BHRI TEEhid J 3
| I "GO Bl OIS e & 3N EHR Tyl e <
| ol TS W HE T ¢ | 36 WY & WM WA
| EXAT o U IE B T | FA9H e Jomett
| Jeed S I UH HHM o FoTC FET-Rehiien wi
. 3R U@ SHHT B | T, Y IR T 3 fedl
| BUTTR & Fifeh I 3T i TR I s 6
| SO gR ¥ S $9 G 1 S A o -

Read the following passage and answer the

. Questions given below : (Q. 11-15)

The scientific and critical mind of India

must be reawakened from its slumber. The

ancient culture based on the vision of the Vedic
and Upanishadic seers did not minimise the
importance of our earthly life. In fact, opulence,
inner and outer, was the driving force of this
culture. But for about a Millenntum and a half
now our culture has let go of this fine balance and
got trapped into the ascetic denial of our terrestrial
life. With this began the decline of the great
Indian civilization. The present education system
aims at making the child an information-
recording machine and a robot for making
money. Mathematics, computers and machines
are everywhere in these days because they are the
gateways to lucrative jobs and subjects which do
not enjoy this repetition - history, geography,
languages like mother tongue and Sanskrit - are
out. The second grave defect of our education
system 1is that it 1s gravely denationalising. No
German education would be regarded complete
without a good acquaintance with Goethe, but
Indian education has no such concern about the

i sources of our culture. It is ironical that Indian
. education is uncritically trying to emulate the
i West just when the West itself 1s going through a

crisis of faith with regard to its institutions of
education and culture. It is desperately wondering
what has gone wrong as it faces mounting
problems 0% drug addiction, teenage pregnancy
among high school students, an existing
hopelessness among people of all ages as well as
a social organisation that sets a premium on greed
rather than on compassion and love.

e i o A g o s

& I GIfTE : (T, 11-15)
T o ST 3T AT AT
35eh! i & foh & S B | Afes 3R 3ufg
T IMYTRG T TE&hid 4 §AR

<l Ik wiferd o |
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R SFERIHT R &l 8 | T o 37 U=
form 18 oft Srfe frer o 7l =t St &, AfeR
R 1T o1 AT Teehia < @it 6 R H Udt

1S e 8 & | 7 forewer & p v fren v
ferell STTeATerT o UfTerm <1 TR0 i i I |

HE 2, T afvem W e s Tl % T
LI o Hey 3 forva i & Tehe T ST 8 | T8
TR & T @1 & Top o e 21w & i aw

TS o S Ueh Hio[gT FRrsm <hl st Tuenati s

HTHAT S T8 8 ST 0T 3R 3 o ST AT |

Jrfenge Tenfud T g |

11. The author of this paragraph wants to
Indian culture.

(A) revive (B) criticize

(C) praise (D) None of these

39 ITTSE h @ ANATT TEBId I/l |

AT ATEd 7 |
(A) GASfiterd (B) 3=
(C) @ (D) $TH | IS &I
(A)

12. The word ‘opulence’ in this paragraph

means

(A) peace (B) wealth

(C) values (D) None of these

T =G H e g 1 31 7
(A) wiifer (B) &
(D) T8 § 15 el

13.  Which of the following is NOT an issue

faced by the western society as per the ;

above text ?

(A) Pre-marital sex among adolescents
(B) Various addictions

(C) Depression

(D) Lack of faith in God

frffad 3 @ F4 1 I T %
AR ufvadt TS g AmAT fohen S
T HEl & 8 2

(A) et & st foramg 4o =i Geiy

(B) Hq

(C) RN

(D) $ver H forgame i wrft
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14.

15.

16.

“No German education would be

regarded complete without a good

acc(ljuamtance with Goethe.” What do you

understand by this line of the text ?

(A) The author praises German
education system.

(B) The author likes the German artist
Goethe.

(C) The author emphasises teaching of
arts and culture in education.

(D) None of these

‘ﬂﬁ@g IS qﬁwgﬁmﬁé%ﬁaﬁq

e qof &1 7 STt B 17 31=ee i 3|

Ul AU RN EAAAR?

(A) oTEeh o e Somret shi ST i 2 |

(B) G SiHH <heflehI TIIU i 0 hid ¢ |

(C) s T1em § sl 3R T=hid &
e A g |

(D) T & IS Tl

According to the author, our education

system is denationalising because

(A) It does not teach about the great
seers and sages of India.

(B) It does not teach about the great
artists of India.

(C) It does not teach about the ancient

language and literature of India.
D) All of these

% IgEr, wAh fuenm e
FFUGRIHTT <L TEl B Hifeh N
(A) T8 WA  HEM RI¥a1 3 Hdl & R
7 7l forgrei ? |
(B) I8 WA % HEM Hellhii o a1 T Tl
ot 2 |

(C) ¥18 WRA = T W91 3R Hifeed
TR T2 e @ |

(D) @& &+ft

A conference or a meeting or even a

mela or procession is a ‘communication

event’, newspapers, radio, cinema and

television are ‘communication media’,

phones, computers, satellites and the
internet are ‘communication ’

(A) spaces (B) media '
(C) technologies (D) process
Th G I1 Th o3 A1 A& deh {h Th

AT A1 @ T TR FeAT 7, THER-
w, e, fgam s efifesm w=r
T’ E, BH, FI, IWE I FEAE

TR 21
(B) Hifean

(A) AT
(C) vrenfuferai (D) wfsran



17.

18.

19.

20.

21.

The Interpretation  process in
Communication takes place in )

(A) sender g ) message
(C) receiver D) channel

IR | AT Uk (FHEE 1 ) |

FEA R |
(A) ﬁw (sender)
(B) H<I (message)
© Tedehdl (receiver)
(D) EER] (channel)
What is of greater concern is the effect
of ¢ > which could result from
repeated exposure to scenes of violence
in programmes, news and cartoons.
EA StereotT{pes
B) Generalisation
C) Desensitization
D) None of these

S 3tferen feiar & foww 8, 98 ¢ &l
TS B, ST ShEshHT, GHET 3T ki
féan % gwl # dR-an fe@m &

IRUTTREEY 2 Jhdl 2 |

(A) Sfgaried B) @M=t
(C) FEAHT (D) TTH & HIE T
Environmental Stress, Competing

Stimulus, Subjective Stress are examples of
(A) Noise

(B) Physical barrier

(C) Frame of reference

(D) Emotional barrier

e, gfceeff 3Euw, safedwes
qTa fohdeh 3TE & 2
(A) IR (B) s sen
(C) Hey T (D) WTa-TcHe STeT

Gestures, Grunts
examples of

(A) Evolution
(B) Non-Verbal Communication
(C) Noise

(D) Verbal communication

and Grimaces are

, ECEHT 3 g s fohereh Seretn 2
(A) Tam (B) TR-HiRge TR
(C) TR (D) Hifgss gaR

Find the missing number in the given

series following the same pattern :

& TS e § gAM e 1 SR
A FEIT A I :

18, 24, 84, 294, 798, (?7)

(A) 1682 (B) 1788 (C) 1867 (D) 1932

22,

23.

| 24.

Shyam bought an old Honda Bike and
spent X 1,500 on its repairs. Then Shyam
sold it to Rohan at a profit of 20%.
Rohan sold it to Rudra at a loss of 10%.
Rudra finally sold it for I 12,100 at a
profit of 10%. How much did Shyam
pay (in %) for the old Honda Bike ?

I H T U BieT S1geh GLie] 3T geh!
A W T 1,500 @9 fpu | i w358
UET Bl 20% o 19 T & fem | Usd 3
3 3g Bl 10% hl BT W = fem | vg 3
HATRITHR 38 T 12,100 T 10% o 19 W
99 feam| wm 9 gt giet 915 o o1

foReT (T ) YA fema 2
(A) T 8,600 (B) T 8,685
(C) % 10,800 (D) % 10,185

There are three athletes P, Q and R at the
same point. P starts running from a point at
a speed of 40 m/min. After 5 minutes, Q
starts running after P with a speed of 50
m/min. Simultaneously, R also starts
running after P at 60 m/min. What distance
has R covered (in m) when he catches P ?

H Teted P, Q IR R U &l faig W e | P
w foag @ 40 wfer/fme i 7ifd & e
IJE B g | 5 M s1g, Q, P & Ui
50 e /fire 1 71fd & et & a8 |
gy &, R off P & 11® 60 Hiex/fime 6
Tl & EreT I& LT & | P ol Uehsd TR

3 fepeft gt (e ®) T 2 2
(A) 700/3 (B) 1000/3
(C) 600 (D) 1300/3

In an election between two candidates,
the winner got 82% of total vote cast and
won the election by a majority of 3840
votes. What is the total number of votes
cast if no vote is declared invalid ?

Gl IFIGAR o o9 T AT H, foordn i
%ol STol T HAl T 82% I §IT 3R
3G 3840 Tl o SgHA | TATE Sid ol |
I IS Ta A IS T&1 fohan S 2
Al STt TTT Al Y Hol HEAT AT 2

(A) 11000 (B) 4000

(C) 9000 (D) 6000

15 (Life Science)



25.

26.

27.
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Read the following information carefully
to answer the question given below :

(1) X *Y means Y is mother of X.

(i1)) X + Y means X is brother of Y.

(i11)) X —Y means X is sister of Y.

(iv) X/ Y means Y is father of X. i
Which of the following definitely means
that ‘P is grandson of Q’ ?

Jo fou M oy H IR A F
freferfiea Sl 1 STHYES Ue
OX*YHAGRY, XFHIATR |
()X +YHRIIFEX, YR UER |
() X- YR IFZX, YHI &R |
(V) X/YHATRY, X HTTUar? |
Frerferfaa o @ forerept fifvaa w0 & aef 2
f6 P, QH1IUETR ?

(A)P*H/Q

(B)A-P*H/Q
(C)A*P*H/Q

(D) None of these/g:lﬁ @?ﬁé:ﬁﬁ

Consider the following argument :

Major Premise : No squares are rectangles.

Minor Premise : All rectangles are circles.

Conclusion : Some circles are not squares.

What is the Mood of the above proposition ?

frfafgd oo = famm =t

%g@a INUR-TH : HI5 oft o 3mrd &
|

Y INER-AT : THft A I 2 |

e : gp gt T 7 | =

IR TR T TG FAT 2 2

(A) EAO (B) AEO

(C) ATE (D) EAT

Choose the analogy that best matches the
example provided.
SOOT : GRIMY
(A) RAIN : SODDEN
(B) PALL : GAUDY

(C) FROST : TRANSPARENT
(D) DUST : RADIANT
98 WgYd Y4 S UgH fohT T I W
e 3191 Al @1l |
i@ : T
(A) 991 : -/  (B) 3T : WShIeAT
(C) UIet: IR (D) 4e: SIfcaH ™

28.

29.

In following question statements are §iven
and these statements are followed by
conclusions. You have to take the given
statements to be true even if they seem to
be at variance from commonly known
facts. Read the conclusions and then decide
which of the given conclusions logically

follows from the given statements,
disregarding commonly known facts.
Statements Some questions are

answers. Some answers are writers.
All the writers are poets.

Conclusions :

. Some writers are answers.

II. Some poets are questions.

III. All the questions are poets.

IV. Some poets are answers.

A) Only I'and II follows.

B) Only I and IV follows.

g Only I and 1V follows.

Only II and_III follows.
HAT h a1g ey | ST
wtﬁm - ”%3 9 Hﬁ;?ﬁq

Y9 § %A U T § I A

T H <l TT AT B .

g @ =1 weffa Bid & | [ ] Ug 371

o frartfia =t fop_feu o frsest & & &4

|1 A T a2 shi 3ueT whid gy, fau

Wmaﬁwamxgﬁmﬂm%%l

hYA | TGS 2 |
mmﬁf%@w

freerd 5

1. TG IR |

L. gmﬁrm%

. Ift s hfa g |

Iv. a»-i%ra%ﬁtél 3

A I 3 11 3= |

EB))éromaﬁuvaqgawm%ﬂ

(C) shaet I11 37 IV T HLd 8 |
D éﬁane»ﬁxnmﬁww |
gW)hoever thrusts a ife into% another

person should be arrested. Surgeons thrust
a knife into another person when operating.
Therefore, surgeons should be arrested.’
Which fallacy is committed in the given
argument ? )

A) Fallacy of accident

B) Hasty generalization )

C Apgea to unqualified authority

D) Red Herring

TR SfEd T =R AR a1l PRI

fohaT ST =1feT | JITEH ohid |9 Hoid
= o =1 =i9d & | 38T, "
Frwan fopa ST =Tfee |

fou e qeh o A it wifa g 2

T 9

(B) SAferantid qmT=fishtor

(C) 3T Tferehrt st 3Tdfiel

(D) E&f




30.

Which of the following statements are true

with reference to Vyapti (concomitance) |

according to the Nyaya system ?

(a) It expresses the relation between

two individual objects only.

(b) It expresses the relation between the
classes of individuals.

(c) It can be said to exist between two things
if they are related as cause and effect.

(d) It can be said to exist between two things
if they are related as species and genus.

Choose the correct answer from the
options given below :

(A) (a), (¢) and (d) only
(B) (c)and (d) only
(C) (b), (c) and (d) only

(D) (b) and %c) only N

S| e (TgAT

a’aﬁﬁﬁmﬁmﬁgﬁﬁqﬁ%éqw)% ?

(a) I8 hadl ol SAfdAl o S Y =T
HATE |

(b) T& K b Tl b i Helel &b T & |

3 Q1 el & o ST ThelT B
© a&awaﬁm?i@w T & |

d HEEEEESEE RN
SN Rl Sk R

T HerE g |
e few o freredi 1 & U8 Ia s =R hifT
(A) %5 (a), () HR() (B) i () HR(d)
(C) % (b), ()3 (d) (D) e (b) 3N (c)

g. No. 31 to 35 : The table given below provides
ata about investment done by different persons.
Read the table carefully and answer the questions.
(Note : Calculate simple interest unless specified
and all questions are independent of others%.

9. 31 9 35 ;: Fi9 & 7 arferer Tl safwet g

foru U Frew & SR T ST JEH T B | dTfotehl i |

&I | U¢ 37 I 1 IWE |
(T : TR0 TS 1 TTUAT L 6 b I8 T & |
SRt S gt & e 1)
Person Rateof | Time |Principal| Amount
=t interest | (Years) | werem LU
FqER | 1 ® ®
(=)
Amar / 3T 3% 1,800
Brijesh /fsom1 | 3% 3,000
Chirag / fem 4 2,900
Divya / fgem 2 4,500
Ekta / Tehdl 4% 2,000
Fenil / ®f& 2 6,000

31.

32.

33.

34.

If the interest rate received by Amar and
Chirag is in the ratio 2 : 3, then find in
approximately how many years the
money invested by Chirag will be
doubled with same rate of interest.
Ife 3R SR R g oe &9 @ 2 : 3
% I § g, ar ferm g frew < e
TR 9H &9 & 8 A9 fehad aui |
& ST 2
(A) 33.5 (B)20 (C)22.22 (D) 29.40
If the ditference between the interest
received by Ekta and Brijesh is I 420 and
Ekta invested her money for double the time
period for which Brijesh invested his money,
then find the amount received by Ekta.

If¢ whar 3R TSRt gRT ST =TS % s
IR T 420 g 3TN Toha 7 fororer g o Hr
TS ST | QT STare o T 31 e fert
fora B, 1 Weha bl ST U1 3T <hIfSTT |

(A) 2,298 (B) 2,785

(C) 3,050 (D) ¥2,960

If the amount received by Chirag is
twice the money invested by him, then
find the amount he will receive after 2
years if he invests same amount of
money in compound interest for 2 years
comr]%ounded half yearly.

Rl FI ST T 3Tk gry FEw
HERUAE] 7, d1 ma hife fp 2 a9
e 39 i st gl afe a7 3
iyt 1 2 oY % fou e it
Tohd [, TS H e LT 2 |

(A) T2,233.56 (B) ¥2,549.45

(C) ¥2,322.62 (D) %2,122.46

If the interest received by Fenil is 20% of
the sum invested by him, then find how
much more money as interest he would
have earned if he had invested the money
in compound interest for the same years.

TR TS SIS 39k 2N

0

35 FHM TN o (¢ ThalG

Tere BT A1 39 foha 31fYeh st e |
(A) X80 (B)X60 (C)X65 (D)X 75

If the interest received by Fenil is I 240
more than interest received by Divya and the
rate of interest received by Fenil is 2% more
than the rate of interest received by Amar,
then find the interest calculated by Divya.

Ife %A g1 e =Tt e g vH = e o
% 240 3k & 3R WA g0 I S hl
T I g 9T ST <hl & H 2% AT 3,
qt feea gry o foma TR =Tt S <hifTT |
(A) 1% B)2% (C)3% (D)4%
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36.

37.

38.

39.

Which one of the following statement(s)
1s/are true about QR code ?

I. It stands for Quick Read.

II. It is a two-dimensional bar code.

IIL. It cannot be used for cryptocurrency  ;

wallet addresses.
(A) Both Iand II §B) Both II and III

C) Only II D) Only III
%\W\%\'@ﬂﬁ@ﬁ@/ﬁ%% QR FiE &

TRATE /22

L. saaﬂaﬁqéaﬁﬁm%%nckRead)%l

II. I8 gi-fofa s 2 |

111, 39ehT 9N FoReiehiE afele Tead
fore & fopn s wehaT 2 | .

(A) I3RS (B) 11 3R I EHT

(C) aet 11 (D) ke 111

Which video compression standard is
commonly used in videq conferencing ?
SfifeAT IR § AR i

R form
HIGT TUES h1 ITANT fehaT SITaT 2 2
(A) H.264 (B) MPEG-2
(C) MPEG-4 (D) VP9

____is adigital initiative of government
of India in higher education that aims to :

promote hands-on learning of Robotics
and embedded systems in colleges.
(A) E-Yantra (B) Virtual Labs
(C) E-PG Pathshala(D) E-Shodh

I fRTefT H I FhT i Th
Uedt B TSEeh BT Hiows & aifes 31
TS T i e 1 SeET e g |
(A) 3-33 (B) I3 isH
(C) 3-4ish yresmeT (D) 3-3ny
What is the National Institutional
Ranking Framework (NIRF) ?
(A) A government body responsible for

accreditation of higher education
nstitutions.

(B) A methodology for ranking higher

education institutions in India.

(C©) A platform/framework
students give feedback about
colleges and universities.

(D) All of these

(NIRF) T8 2

(A)ﬁ%ﬁé@ﬁ@ﬁﬂﬁﬁ%%ﬁ%

orier v g fem |

(B) Wt 5 3, P e 1 b 3 |

foTQ weh iy |

(C) U TE /T &l B hictsll 3ﬁI
o :

T aR A Ifafsran <d 8 |
(D) ¥ Tt

15 (Life Science)

where |

40.

41.

42.

|43,

What does it require to set-up an Intranet
for an organization ?
A) Computing devices
B) Communication links and
Interconnecting devices

(C) Protocols ~  for _enabling
communication among devices
D) All of these
%?Fﬁ TS o folU 3gHe TA1a &
fere s 2 2
(A) :
(B) H=R fo7sh 3R
(C) o off<l TR ! W& L 5
(D) I aft
Under which protocol the Clean Development
Mechanism (pCDM) is implemented ?
A ﬁyoto protocol
B ontero protocol
C) Paris agreement
D) Cartagena ggrotocol )
JIeiehlcl o dgd s o™
GISOSIUNERIE I

(A) F (B) Hiel SeEhiA

(C) U@ Tusiidl (D) IS TIdiehicd

Certified emission reduction credit represents

(A) Reduction in one metric tonne of sulphur
dioxide emitted to the atmosphere.

(B) Reduction in one metric tonne of
nitrogen oxide emitted to the
atmosphere.

(C) Reduction in one metric tonne of carbon

dioxide emitted to the atmosphere.
(D) None of these

IS haldl shige  (certified

emission reduction credit)

(A) TIHSA H IEAA Hohl SEIAFHEE
% Th Ul < § T | §
(B) IIHSH W I AT5gIoH STaTEe
% Teh Hfgeh o H | }
(C) ITIHSA H IHSIA HIEH SHIHATTFTES
o Ush Higsh o H 1 |

(D) 378 | IS T

Arrange the crops in an ascending order

for their water footprint.

A) Wheat < Rice < Coffee

B) Rice < Wheat < Coffee

C) Coffee <Rice < Wheat

D) Rice < Coffee < Wheat
& 3T

ST ghgd (water
footprint) o ToTT STRIE! 3 H SHATEIA . |
(A) g < TS < HIh
(B) e < 7T < it
(C) ih! < =g <5
(D) T < il <5



44.

45.

46.

47.

How many kilograms of CO, is

equivalent to 1 kg of CH, in terms of |

global warming potential ?

et Ll N —

CO,, 1 freiiom CH, & SRR 2 2
(A)" 10

B) 25
€c3 S0 :
(D) None of these/STH H IS T&

The United Nations Conference on

Environment and Development

UNCED), also known as the °‘Earth

ummit’, brought together

representatives from countries

to discuss about the impact of human
activities on the environment.

A) 179, socio-economic

B) 177, socio-demographic

C) 175, socio-cultural

D) 173, bio conservation

foprE W Tg® TP THTH
(JuEEe), 8 ‘gl Rret aeE %
w7 § oft I ST 2, D
yfaffert = wfaer W aHa

et 3 S % R A

T wh |1 A |

(A) 179, GraThTeh-3Tfh
(B) 177, AT —ST:
(C) 175, QrTfTeh-
(D) 173, 9 T&q0T
In most of the States of India, the Vice-
Chancellor of a State Government
University is appointed by .

A% Chief Minister of the State

B) Home Minister of the State
C) Hon. Governor of the State
D) Education Minister of the State

c

(Dﬁ T o foren Wt
Which is/are the online

Flatformgs])l in India ?

. DIKSHA 1II. SWAYAM
III. PARAKH IV. SWAYAMPRABHA
gAg Only I, II (Bg Only I, II, III

C) Only Ii (D) Only L I, IV_
A § STeTE 18701 7l b |1/8 8 /8 2
I dan . @&

. 7@ IV. TR

(A) ae I, 11 (B) shad I, 11, 111
(C) aet 11 (D) &I L, 11, IV

learning

48.

49.

50.

Which of the following institutions/
organisations play important role in

designing the curriculum for all the
levels of school education and higher
education in all the disciplines of
knowledge ?

[. NCERT II. NCTE

1. UGC IV. AICTE

(A) Only L II (B) Only L, I, I1I
(C) LIL, 100, IV (D) Only L, I, IV
M o a fawai # wRefl fren ok 3=
et o |t & o fTQ qTa@shn AR &
T fafafgd & 9 ®F @ GE/9ed
Tgaqut ferent fuma § 2

[ TERARE 1L TR

IV. TITEHER
(B) had I, 11, 111
(©) LIL, 100, IV (D) sad I, 11, IV
Which of the followin
University was situate
present time ?

(A) Nalanda (B) Taxila
(C) Vallabhi (D) Vikramshila

fefafga 4 @ w9 @ e ardE
Torvafoamem adam @99 & wifesaE |

ancient Indian
in Pakistan of

f@rcr?m
(A) ATl (B) q&rfret
(C) oot (D) ferspufstemn

NEP 2020 has emphasized on

I.  starting all the engineering and medical
courses in the vernacular languages.

II. reviving ancient knowledge systems.

III. converting all the colleges into
multi-disciplinary universities.

IV. designing a new curriculum for Early
Childhood Care and Education.

(A) LILILIV  (B) Onlyl II, IIT

(C) OnlyL,III (D) OnlyIL, IIL, IV

TAgdt 2020 A R AR e ¢

L &t sSiifEi s afgwe aigasea
T T3 | I T |

II. ST=E S Jomferlt sl T |

L &ft sl wg-fawres
Teroaforaneri @ af@faa e |

V. YRfeh STeaTaee c@vTe 3T fra
o ToTT Teh T UTSAhA IR ST |

(A) LILILIV  (B) saat I, I, 111

(C) haet I, 111 (D) e 11, 111, IV

15 (Life Science)



51.

52.

3.

Part—1II / ¥@T-11
Life Science / Stgq f?\ﬁlﬂ

If a person loses a large amount of water in a
short period of time, he or she may die from
dehydration. ADH (Anti Diuretic Hormone)

can help reduce water loss through its

interaction with its target cell in

(A) Kidney (B) Adrenal Glan Gland
(C) Posterior Pituitary (D) Anterior Pituitary
I g Atk %1 am § o) 46 § ur @
<R, ﬁ%ﬁiﬁﬁw%mw%ﬁ: ADH
(Trerriesh ) T 3T
e SHITITEhT % T TER ke < Hreem o
T 261 BT b1 ohH oHid H Heg s Eehdl & |
(A) T (B) Hergrh

(C) wafuggelt (D) swiugged

Which of the following sets of cranial
nerves falls under parasympathetic system?
TS TRRIST T IR § H i 91 He
wimAfess fem (Parasympathetic
system) & I AR 7

(A) 1, IV, V and/3M X

(B) 11, XII, VI and/37R 111

(C) 1M, VII, IX and/3T X

(D) 1, IV, VI and/3TR XII

If adrenal cortex of a person is damaged

and he could no longer secrete aldosterone,

which of the following would be the

outcome if he experiences low blood Na*

concentration ?

(A) He would not be able to secrete renin.

(B) He would not be able to secrete
angiotensinogen.

(C) He would not experience increased
Na" reabsorption in the distal tubule.

(D) He would experience increased Na*
reabsorption in the distal tubule.

e fopeft WWW(adrenal

cortex) gfqred g S g 3N 98 3
& WG A& B Tl 7,

ﬁm%ﬁaaﬁ@faﬁ:rmqﬁm‘aﬁmaﬁa%

T T Na* HTgaT sl ST hLdT & ?

(A) & Y =1 #Tel &l U uTe |

(B) 98 waﬁ:agww|
(C) o' fewed Z{W g Na'
3TIVE &I T |

54.

56.

(D)ag%eazegslaﬁNa REICHIL L]

gi%a:r:ﬂgﬂaaﬁml

15 (Life Science)
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5S.

The secretion of digestive enzymes from
the pancreas is mainly controlled by which
of the following hormone ?

(A) Gastrin (B) Renin

(C) Cholecystokinin (D) Oxytocin
ST § U USTEHI o 619 & €9 8
T 1 4 fopm gmia g fRIba g g 2

(A) TifeA (B)
(C) FPAERLIBEMAT (D) eI

Glycogen is primarily stored in liver for
which of the following ?

(A) A source of energy for the nervous
system

(B) A source of energy for excretory
system

(C) A source of energy for muscles
(D) A source of energy for its own needs

Fraforfaa & & forees foru emseniem @ ®a
T Ik H TR BT 2 7

(A) drehT a1 o oTT Sl =BT &

(B) IS JUTTeAt oh ToTu 3t o1 &I

(C) Ui o foaq St st &

(D) 3T SRl oh ToTT St b1 &I

Which of the following is responsible for
the rate of impulse conduction in a nerve ?

(A) Nuclear size
(B) Axon Diameter
(C) Nuclear size and Axon Diameter

(D) Axon Diameter and thickness of
myelination

fafafaa o & 5 i & smem =er 6

T h foru R 8 7

(A) =IFART SRR

(B) dbiehred =8

(C) —IFRATT TR 3R Aleh1eT =8

(D) dfreh1er ST ST TSI <hl Hiers
O




57.

S8.

Which of the following would occur if rod
cells are exposed to light ?

(A) Rod cells will hyperpolarize due to g

closing of K* channels.

(B) Rod cells will hyperpolarize due to
closing of Na* channels.

(C) Rod cells will depolarize due to
opening of Na* channels.

(D) Rod cells will depolarize due to
opening of K* channels.

Ife <8 HIRERIT T TehIT o Tueh T AR

e at freferfea o @ w®nam ¢

(A) K* =l h 8¢ BH o I G IR
Afagfed g1 S |

(B)Na+%q<—vﬁésaiagﬁ%5wa'g§

“hITRTeRTd SAfcggferd & STt |

(C) Na* ITall & Told & AU C8
HITIERI3T BT ferggarmr &1 S |

(D) K*=Fcil 3 e o HRUT 48 HIIThIa
<51 ferggern & e |

Which of the following human genetic

disorders is sex-linked recessive ?

(A) PKU (B) Ciystic fibrosis
(C) Haemophilia (D) Achondroplasia
fofT—erge ST 7
(A) *fiFg

(B) Ffees wrssiie

(C) EHIRITeRT

(D) ThigrATE=

11

59.

60.

The gene which is suppressed by another
non-allelic gene through interaction is
known as

(A) Incomplete dominance

(B) Epistasis

(C) Homologs

(D) Hypostatic

g ST S 37 :f5R3 o A1 | T 3 -
TeAifeteh STH g et Tz Sirn 7, o €4 H

ST ST 8

(A) I 9y
(C) BHere

(B) ufrefem
(D) TRURfeH

The Pedigree chart below for the ability to
test the chemical PTC

(Phenylthiocarbimide)

TR NEE o gl i amar % fog
I FemEett =@
(PHAATIRISHTSS)
I

II

1 2 3 4 5 6 71 8 9
What would be the possible mode of
inheritance if the trait is completely
penetrated ?

(A) Autosomal recessive trait
(B) Autosomal dominant trait
(C) X-linked recessive trait
(D) X-linked dominant trait

e LT I TE & VeI HL T 8 A IR
1 Tl qlieht ST B ?

(A) IS 3T ferRisar

(B) JAierdet qHet ferisar

(C) wam-fotere STeTeht ferereran

(D) TaE-foTere Turelt forgrear

15 (Life Science)



61.

62.

Which
generally has the most severe impact on

human health ?

of the following aneuploidies

frffar § & =W @ teeEew |

(aneuploidies) T JTTHAR T A TR T

Fe8 TR yHE TedT ® ?
(A) 47, XXY (B) 47,421
(C) 47, XXX (D) 47, XYY

Which of the following statement is true

regarding sex determination in Honey Bee?

(A) Both male and females are haploid
having 16 chromosomes.

(B) Both male and females are diploid
having 32 chromosomes.

(C) Females

chromosomes and males are haploid

are diploid having 32

having 16 chromosomes.
(D) Males

chromosomes and females are haploid

are diploid having 32

having 16 chromosomes.

TemeRet § foir fafor & gag § Feafafea

AP AR A G ?

(A) TR 3TN 9TET G 16 TORET aret 3T
g

(B) T 3R H1e1 g1 fpfora g & e 32
TR B € |

(C) WIeT 32 UREAT arett T & 3T 16
UG et ST # |

(D) T 32 oRET At fEfor 21 & Sk ey
16 TURE STeft ST et £ |

15 (Life Science)

63.

L 64

65.

12

If Hef" E. coli strain is crossed with
F~ strain, what would be the possible
recombinants expected to be obtained ?

(A) always Hfi-  (B) rarely F*

(C) always F* (D) always Hfi*

Ife Hrf* E. coli €7 1 F~ TH o 91 TR0l
SHUAT SITAT 7, 1 U1 & aTet ATid Gt
B ?

(A) EHI TR -

(B) SR gl ehvfi v

(C) BHNTH

(D) HT THUHAR

Which one of the following represents the

correct ratio for Incomplete dominance ?
ffefga 5 & s | 37quf ywifear < ferg
TE ITUTA 1 AT AT 8 ?

(A) 1:8 B) 1:2

©) 13 (D) 3:1

Which of the following is a characteristic of
a climax community ?

(A) Open mineral cycling

(B) Low Species diversity

(C) Wide niche

(D) High biochemical diversity

FfcTRad # & i ©f =H T <l o

g7

(A) 3o TR |rgehfern
(B) 4 STIfet faforerar

(C) Toreid 31T (niche)

(D) 3= Sa-TEE e faferern



66.

67.

Inverted pyramid produced by host-parasite

system, such can observed in which of the |

following ?

(A) Pyramids of numbers and biomass,
but never energy

(B) Pyramids of biomass and energy, but
never numbers

(C) Pyramids of energy and numbers, but
never biomass

(D) All kinds of pyramids.
ToeE-uhe womelt g fffa St

foafire, wan Fefofiaa 9 & forad qan S

Gehal g ?

(A) & AR SRME % fofre, fe

EXIEEE]

(B) 9™ 3R el & RIS, oifehd
T B T

(C) S 3 Tenm & fufig, <fe
ST Y TE

(D) &eft FehR & forrfire

As per the competitive exclusion principle, |

two species cannot continue to occupy the

same
(A) Territory
(C) Habitat

(B) Niche
(D) Ecotone

i T8l @ Hehdll ¢ |
(A) &= (B) 3T
(C) ™ (D) SehIgH

13

68.

69.

Which of the following related to Type 2
survivorship curve ?

(A) The curve has a slope of +(1).

(B) The number of survivor remains same.
(C) Itis similar to Type 3 curve.

(D) The risk of mortality remains constant.

Ffiiad o | F 289 2 IaLstitaar o |
Hafra g 7

(A) THH+(1)H AR |

(B) ITRSHE <ht HE&d THH &l 2 |

(C) TEIRIA3THBTANE |

(D) Tcg QI AReA FRAEM R |

Nitrogen being the major environmental
pollutant in terms of groundwater in many
parts of the world. What could be the major
reason of the nitrogen accumulation in
groundwater ?

(A) Lack of soil moisture.

(B) Reduction of nitrifying bacteria results

in NH 4+ accumulation.

(C) Excessive use of nitrogen fertilizers.
(D) Excess of soil moisture causing
ammonification.

g o o et B vyl % el  egiee
S AR G & | STt H AN
B 1 THE I AT &l Fhell & ?
(A) g =t Hr oot
(B) TEfewET SwAfEn fit w T NH,*
EERE I
(C) TEZISH 3aTehi ohl STeATeIeh SUFNT
(D) Tt &t it <t Stferpar 3R
HROT A 2 |
15 (Life Science)



70.

71.

While studying populations, which of the
following measurements are the most
useful?

(A) Annual precipitation averages and i

mean annual temperatures.

(B) density, dispersion and demographics ‘

of a population.

(C) minimum and maximum amounts of
precipitation and annual temperature
extreme.

(D) gene frequency over time and the ratio
of reproductive to non-reproductive
individuals.

SEEAT Sl 3T Hid TH, Fefeiiad |

T I |1 U HaTfeeh IR g 7

(A) afSes a9 3MHd 3 3fEq o
RIS

(B) SWEET W ENd, BoE 3R
SEEICED

(C) aut i = 3TN HAferehay AET 3R
e ATIHH =RH

(D) §9F % |1 S TR 3R o |
TR-YSH SR ol STATA

Which of the following graphs represents

the per capita growth rate of population

showing exponential growth (N=Nj e") ?
frafarfaa & & &F @1 o6 SEREn 6 ufd

=Ifth gfg ! aE I (N=No e) g
g7

& 1 2

s

< e | ———

B J

: &

Q-

s €

5

=W
Population size
SHEEHT HATRR

A) 1 B) 2

©) 3 (D) 4

15 (Life Science)

14

72.

73.

What would happen if a keystone predator

species has been removed from the

community ?

(A) Increases species diversity in the prey
community.

(B) Decreases the population size of the
predator’s preferred prey.

(C) Decreases the productivity of the
predator’s preferred prey.

(D) Decreases species diversity in the prey
community.

1 B Al wh HLE Beedt wefa

HHE™ U B fe T g ¢

(A) TrepR aggR § ySfe 6 fafaerdr i
T2 |

(B) Repill & wEdlgr WeR % SHEen
TR HI HAHATR |

(C) TIrerrt & udier fRTehR <hi Scateehar shH
FGA S |

(D) Trepr wggr™ # ySfen <6 fafaerr 1
FAHRAR |

What would you call a problem with

increased genetic  diversity following

extended time in a tissue culture ?

(A) Random variation

(B) Temporal modification

(C) Genetic drift

(D) Somaclonal variation

Sk Hagd | foamia a9 & 91¢ 941 8
AR fafaedr aTel FHeT S 374 w0
el 7

(A) g foemr

(B) ITEArft TEme

(C) 3R fomeH
(D) THTERANS e



74.

75.

One of your fellow student remarked that

the neck of the Giraffe, stretched its neck |
while reaching for higher leaves; its :
offspring inherited longer necks as a result. !

Which statement is most likely to be
helpful in correcting this student’s
misconception ?

(A) Characteristics acquired during an
organism’s life are generally not
passed on through genes.

(B) Spontaneous mutations can result in
the appearance of new traits.

(C) Only favourable adaptations have
survival value.

(D) Disuse of an organ may lead to its
eventual disappearance.

AT9eh Ueh Tt B A fewoft <ht fop foraw <6hr
e St uferl b TEe o GRA 9T T
l Hholldl 8; TNUMTHERY $Hh! HdMT i
et e forma el | 39 B i o
IO hl Sieh A T hid BT e TEEH &l
Hhal g ?

(A) Th g % 9T F A TH dGqw

FTHAR TS 35 e & T R B |
(B) & SIS o URUMREEY T AT
6 Jufeafa g adt © |
(C) haeT 3Tehet 3TheH o A e ¢ |
(D) TerEl 3T % FUEM § Jidd: TEE &
Tl g |

Which of the following statement is not

correct ?

(A) Sexual reproduction alone is sufficient
for evolution in a population.

(B) Hardy Weinberg is only applicable to

non-evolving population.
(C) Natural selection is gradual process.

(D) Genetic drift leads to random fixation

of alleles over a period of time.

FfcTRad & 8 o H LA TR R & 7

(A) e § fae % o R A

Y YA R |

(B) 1t e e e |

AT B |
(C) Tehfcreh = Shitrh TfRaT R |

(D) 3TafTe foreet am i 3mafe § uefted

% wfese el i s |
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76.

77.

In an experiment which has continued from
50 years, sunflower has been propagated by
breeding only from plants with high
amount of oil in the seeds. Now the average

oil content is greater than original
population. Based on this following
hypothesis were proposed as an

explanation for this observation :

1. Plants with high oil content were
stimulated for more oil production.

2. The increased oil content in the seed is
due to mutation.

3. The breeding led to new combination
of gene for higher oil content.

Which of the following explanation is/are

correct ?

(A) 1,2and 3 (B) only3

(C) 1Tand3 (D) 2and 3

50 T & T T8 Teh T W Gt o ofisit

H et <hl AR 3Afeeh B ool didi 8 & TS

SHUeh SEHT TaEH TR TRIT 2 | 319 3TiEd ddt

HEAT Y S & 371 7 | $6eh 3TMIR T

3 1A o TIBTHWT o €Y H FHEfcTRaa

TReReHHTY SreTTerd <hl 718 off -

1. 3 dd 3aTed o foT¢ 3=t "I
et it <hi S Tehall 7T |

2. SN T dd A § ghg Iaiad &
HI B R |

3. IF dd HAT % T TEE
TRUTHEEEY ST o 0 TASH s |

FrafoTRaa § & &H 91/3 TS T8l 8/ ?

(A) 1,233 (B) whaet 3

(C) 133 (D) 2313

Which of the following represents the

correct relation between Altruism and
natural selection given by Hamilton ?

fferfiad & & < @ 2feeT grr fer Mo
TR 3TR JThfcrh =1 < ot Hel Gae
T U ar g ?
(A) tb>c
(C) rb=c

(B) r>bc
(D) rb>k

15 (Life Science)



78.

79.

80.

Which of the following is the correct
characteristic feature of phylum Cnidaria ?
(A) They can only be found in freshwater
environments.

(B)
(©)

They are triploblastic or three layered.

They don’t show tissue or organ
system.

(D) They are radially symmetrical and

diploblastic animals.
FrafaRea o @ o9 @1 wgem TEefeEn &
wE TR Ao g ?
(A) 9 hael HIS UMt % ATATaReT § 97T 11
Tehd & |
(B) 9 Ruciieenf@s A @ia |
(C) = 3deh A1 T JOTeA! & fe@ma € | 7
(D) 3 3R T 3R Rveiieenfeess wHa |

Mycobacterium tuberculosis is an intra-
cellular pathogen which infects which of
the following ?

(A) T-cells (B) Basophils

(C) Macrophages (D) Platelets
SIS R Th $g1-HH
TTSHe & S FHfcTRad § & fope Tnfta
HAR 7

(A) A-HERA  (B) S@ifthed

(C) Hehithet (D) weeigd

Which of the following does not belong to
Annelida ?

(A) Nereis (B) Earthworm
(C) Leech (D) Wuchereria
FafiRaa § 9 ®H @1 Ticiel & Fefed :raﬁ

7
(A) T (B) Fgam
(©) (D) FeRfea

15 (Life Science) 16

81.

82.

Cloning vectors are small piece of DNA
which have the ability and wused to
introduce foreign gene of interest into the
host cell. Given are some features of

Cloning vector :

1. Selectable marker

2. Replication origin

3. Restriction sites

4. Insertional activity

5. Capacity for selection for inserts
Which of them are not basic features for all
cloning vectors?

(A) 1,2and 3 (B) 2,3and 4

(C) 4and3 (D) 4and 5

FART o ST F B g B & P
T Bt & ST ASEH At H 76w o argd
ST 1 U= SR o foTT 39T feRarm e § |

aﬁﬁnéwaﬁw%ﬁw‘ﬁﬂé%
EEEETCDIDR:ICay

ferpfer Seafe

BIGEPERS ]

Frafas nfafafer

A o TTU == <t &
wﬁﬁﬁqﬁwﬂa@ﬁné&a%mw
oA 7@ 8 7
(A) 1,23MW3

kh-lkb)[\)»—t

(B) 2,334
(D) 43R5

(C) 433

Metagenomics is

(A) not related to microbial genome.

(B) applied to a species that most typifies
the average phenotype of its genus.

(C) sequencing DNA from a group of
species from the same ecosystem.

(D) sequencing DNA from a group of
species from the different ecosystems.

sl S

(A) TS STHIH & Heiferd 72 2 |

(B) U Ul WS W AR Bl g S 39
S o 37Ha HAICTST i Ty 3Tfeeh
TMaT g |

(C) W & wiitferfaes = & ysiifaei < T
T ¥ ZTAT STh{T hid & |

(D) Taftra arftfeufaes o=t @ weifaai < w
TR U ST ST L 2 |



83.

Which of the following statements are

incorrect for somatic cell hybridization ?

1. For of
dimethylsulfoxide (DMSO) is used for

a fusogen.

fusion

2. The first report of somatic hybrid
plants resulted from the fusion of
protoplasts of Nicotinana glauca and
N. tabacum.

3. The enzyme ‘Cellulase Onozuka’ used
for protoplast isolated is sourced from
Trichoderma viride

4.  Viability of isolated protoplasts can be
determined by Evans’ blue staining

(A) 3and4 (B) 2and3

(C) 1land2 (D) only2

N ) M

i B HY A & 7

1. M & GeRrd & T,
TRfHTETHCRHEEE  (DMSO)
ST RS ¥ o e S S |

2. Hfech s i et e B

@ﬁgﬁﬁﬁsm%

TeTT U 399 &8 |

protoplast, g

R AT E |

4. O & LHT G gUsh TRRe 6

S —&rear et <1 ST Hehdt 2 |
(A) 334 (B) 233

(C) 132 (D) a2

17

84.

8s.

Which of the following does not represent

the plant-based technologies of

phytoremediation ?
(A) Phytostabilization
(B) Phytoextraction
(C) Phytovolatization
(D) Phytoresolution

Frfetied o | HH |1 BRNHTSTEH i T
AT oheiteh! ol T Teicel &l a1 & ?
(A) FEERfTEoRA

(B) HREEICHRSTA

(C) BRIGICIRENEA

(D) TSI

Which of the following is true regarding

marker-assisted selection in animal ?

(A) To tolerate abiotic stress

(B) To improve disease resistance

(C) To improve yield

(D) All of these

yroft § WA -TERIaT I 9 % HeYg H
FAfTREa A g PR A EE & ?

(A) AT TG I T Hid o foIg
(B) T wferliereh &mwiel H Gu s o forq
(C) 391 H IR &t o fel

(D) g &t
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86.

Somatic hybridization is a technique used
for plant improvement. Given are some

statements regarding somatic hybridization :

1. The protoplast fusion gives a unique

nuclear-cytoplasmic combination in
the hybrid cell.

2. The plant produced are not always
viable and fertile.

3. Somatic hybridization cannot be
performed in young juvenile plants.

4. It helps to study the cytoplasmic genes
and their function.

Which of the following statement/s is/are

incorrect ?
(A) land?2 (B) only3
(C) onlyl (D) 3and 4

IRk TR0l Teh dohrleh & [oTHehl ST
el o gur & fore foam Smam & | il

ThUT o HEY H $ hoF feg Mg

1. TR o Tt HIRER H Th
gt Freh-hIREE GASH el
i

2. 3Iaifed WY BHSM SiieHe TR 3USTS

TR E |

3. oo e it e i |

EIREIES

4. Ig GZIAASHh S 30T 3k hR <l

T A T HEG HLAT & |
feffgad a R a/a s Ta /g ?
(B) e 3
(D) 334

(A) 132
(C) a1
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87.

88.

89.

E.coli cells take up plasmid DNA in
laboratory experiments by which of the
following ?

(A) Conjugation  (B) Electrophoresis
(C) Transduction (D) Transformation
fforea # & forgen gra STt ST |
3. FIcTTE BN, TAIfSHE SITAT Tg0T Shich!

g7
(A) T (B) SIEcTohoT Tefei
(D) &Rl

(C) YehHTT
Which among the following marker

detected due to change in the base sequence
recognition site for restriction enzyme ?

Yfdee TSMeH @ Tt 3R 1A IR

e H aREH o R0l Hefoiiad § § ford

HTehRL <1 Il el ?

(A) SNP (B) RFLP

(C) RAPD (D) SSR (A)

Some of the steps involved in DNA finger-

printing are listed below :

I.  Extraction of DNA

Il.  Collecting the sample

III. Treating DNA with REN

IV. GEL Electrophoresis

V. Transfer segments of DNA to
nitrocellulose membrane

VI. Hybridize with probe

VII. Autoradiography
Which of the following is the correct order?

e RIS # Sniiel e =l hl =
TRGER:

L éq:rqemﬁmﬁém

1L T 8 T

II. m@ﬁ%w@waﬂm

V. S e

V. S TE I AL fgieett H
T |

V1. HudieTes o 91 Heh{ol ST |

VII. 3Aierfeammdr
frafRea i AP AT T s & ?

(A) IL LIV, VLV, I, VII

(B) IL, L 1IL IV, V, VI, VII

(C) IV, L 1L, V, III, VL, VII

(D) IV, 1L, V, II, VII, VI



90.

91.

Protein binding regions of DNA are
generally identified by

(A) Finger-printing

(B) Foot-printing

(C) Northern Blotting

(D) Western Blotting

ETT o TIEH S &Rl ol T8 STHAR T
frEh g et 8 7

(A) TRt (B) RerIfen
(C) FeA AT (D) & seffen

Green Fluorescent Protein (GFP) and its
homologs are widely used as fluorescent
markers of gene expression. What is the
advantage of GFP over fluorescently
labelled probes ?

(A) GFP enables to track mobility in

living cells while fluorescent probes

require preserved cells.

(B) GFP provides protein
while fluorescent probes don’t.

(C) GFP provides higher resolution than
fluorescent probes.

(D) GFP provides precise location in
preserved cell than fluorescent probes.

P FAREE A (Sawdt) 3R 38e Ty
S sAfeafs & TP e % &9 H
e T T IFAN T S0 & | FeAEe!
e SiTe SO} h1 R HRIE g ?

interaction |

(A)Gﬁ@ﬁﬁﬁﬁéﬁﬁﬁmﬁﬁmﬂmé
W ¢ B W HEH S B Sh |

I STERIHATEIA & |

(B)Gﬁwmaqmmm%

Seifeh FARIHE S 181 SRl @ |

(©) S e sta B g § T

T JEH AT € |

(D) St e e 1 ge i s

IR § T WH TeH HT 2 |
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92.

93.

Analyze the given image and identify the
father of the offspring from the given DNA
profiles of 3 different males.

& 7T Bf 1 fagemur Bt 37 3 3Te-3Ter

et 35 o e e SEe & S  fr
! TE=H L |
Mother Offspring Male | Male 2 Male 3
(A) Male/9e¥ 1
(B) Male /9%y 2
(C) Male/9%¥ 3

(D) None/ EACE]

The finest resolution to study the internal
ultrastructure of cell could be achieved by
using which of the following ?

(A) A confocal microscope

(B) A phase contrast light microscope

(C) Transmission electronic microscope

(D) Scanning electron microscope

Frafofaa o @ foreepT ST Stk IR
N AR T BT HEH A 5 g
A ooz ST foham ST Heha1 § 7

(A) TS HihIchel HISHhIEHT

(B) Ush el ol TehTet HTgshieehia

(C) SR FeTdTieh HIshTE=hI

(D) EHHHT FeTegi HTEshTEhId

15 (Life Science)



94.

95s.

96.

Variation in the restriction DNA fragment
lengths between individuals of a species is
called as

(A) RFLP (B) RAPD m
(C) SSR (D) AFLP
Teh TG o SARhAl & si9 Jidey e
WUg < el H e R hEeidi 8§ 7

(A) FRTHTAT  (B) FARTIE

(C) THTEIR (D) TTHTA

In mammals, including humans, insulin is
synthesised as a pro-hormone (like a pro-
enzyme, the pro-hormone also needs to be
processed before it becomes a fully
matured). This maturation of proinsulin
into insulin takes place after which of the
following step ?

(A) Removal of disulphide bridge

(B) Joining of c-peptide

(C) Removal of c-peptide

(D) Joining of disulphide bridge

o= Ofed ATl H, sgfeM ot
W-gMH % &9 § TN TR S 2
(TT-TSTTeH <hl TTE, N-gHH ! i I TE& &
URUeE B4 § Ugl S W I
e Bl ) | Frafefaa 3 & froes
e TEgfo T Sgfor H TRuseH B 8 7
(A) STEUTHIZS JeT hl G

(B) H-Uwrge ¥ wmftet A

(C) H-ULTES i ZZHI

(D) STEHCHIES IeA H M &

An intermediate of the citric acid cycle that
undergoes reductive amination with
glutamine as nitrogen donor is

(A) Gluatamine (B) o-ketoglutarate
(C) H+ (D) NADPH

g Tfesh TS Tk h1 TH HemAdi S
AEgISH R (donor) % &9 H TG
a1 fefaea Tfiee § 7ot 8

(A) e (B) a-shireiie
(C) H+ (D) wEgdiTe

15 (Life Science)
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97.

98.

99.

Which one of the following process is not
involved in nodule formation during
Biological Nitrogen fixation ?

(A) Rhizobium bacteria gets in contact
with a susceptible root hair and divide
near it.

(B) Bacteria is carried by infected thread
to the cortex of leguminous plant.

(C) Infection caused by bacteria caused
the root hair to curl.

(D) Bacteria get modified into rod shaped
bacteroids which causes division of
endodermal cells.

FrafarRaa o @ &= =t ufskan Sfaes Agaieq

Rl % A e (Tege) i |

Tferet TET & ? .

(A) Tssiifrm =it o sAfgdei
gfﬂ? (root hair) < Edeh § 31T 8

35 T fofoa BT 2 |

(B) ST TRt g3 G BellgR 9e b
Tope H o T2 |

(C) SFITET & HRUT B9 el TshAul
0T e TH HEed (curl)‘aﬁaﬁ% |

(D) é’oreﬁfw TS o AR éaérls@.a

TORG B WA g S Sk

(VglehaT) hiRERI3T & foveH
RO & &

Who discovered the Red Drop in light

reaction during photosynthesis ?

(A) Hill (B) Engelmann

© Emerson (D) Helmont
TRIT-TYNUT < SR SRR TR |
AT ¢ hl @IS Tehe <hi off ?

(&) o=t (B) et

(C) T (D) &Hie

The plant hormone that uses two-

component histidine kinase receptor system
for signal transduction is

(A) Cytokinin (B) Auxin

(C) Abscisicacid (D) Gibberellin

T foret TR & T g-ues feesH

eIl et ey o1 ST o I1efl Wiie
B
(A) HEEHEAA  (B) AT
(C) e ufeie (D) Fomitfem
m]



100. What could be the possible explanation of

101.

fall in photosynthetic activity at higher |

temperature ?

(A) its due to the carboxylation of acetyl-

CoA.

its due to the carboxylase activity of
PEP in Csplants.

its due to the carboxylase activity of
RUBISCO in Cs; plants and
denaturation of protein in C3 and Cs
plants.

its due to the oxygenase activity of
RUBISCO in Cs; plants and
denaturation of protein in C3 and Cs
plants.

I dUHH W ThRI-H3iSeh T |

frrere <k garrfara I R B gehdl B 7

(A) T8 TRIETEA-TNIT & BRI b
HRTE |

(B) 98 C, Wi ¥ PEP <l whaiiagders
Tfeferfer oh RO R |

(C) J& C; Wl T TfoRehl 6l Hraiforderst

(B)
(©)

(D)

wfefafer 3f ¢y 3k ¢, Dl A AT H |
ﬁﬁw (denaturation) @ ehIUT |

AT e |

(D) I8 C; W&l § Tferapl <t TSIt
fafafer 3t C; 3k C, et & T
forpefientor & RO BT % |

Leaf abscission in plants is regulated by

auxin and ethylene. Which of the given

statement is correct regarding the amount

of these two during leaf abscission ?

(A) Reduction in both auxin and ethylene

(B) Increased amount of ethylene and
reduction in auxin

©)

(D)

and auxin

auxin

Increase in amount of both ethylene -

It is only regulated by high amount of

et 3 afert 1 e SR i oRRR

QT <h! AT o {9 H b AT HAT TR 8 7
(A) AT 3R Tfred= g o ot

(B) WRicha & w3 oy st i |

(C) TR 37 3T Sl S wEn g

(D) %Wﬁwﬁaﬁmmﬁaﬁa |

fr S g |
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102.

103.

104.

Which of the following is the homologue
of B-catenin in Drosophila ?

(A) Armadillo

(B) Engralled

(C) Fushi tarazu

D) Cubltus 1nterruptus
%tr\%\ﬁaa I |1 SR § B-chefid

T HIET B ?

(A) JHfEe (B) g

C) P (D) FFecH 3z

Which one of the following is the primary

organizer in case of chick development ?

(A) Brachet’s cleft

(B) Spemann’s organizer

(C) Nieuwkoop centre

(D) Hensen’snode ]

o1 o Toeh < A H ffeiiad | &F

1 iR TS § 7

(A) ‘siehe 1 Bk (cleft)

(B) HE < IS

©) Nieuwkoop%b?

(D) & HTE

You are doing a research on fruit flies and

if there would be a mutation occurred in a

homeotic gene, which of the following

developmental abnormalities would be
observed by you ?

1. A fly with correct number of segments
has two additional thoracic segments
and two less abdominal segment.

2. One abdominal segment has legs.

3. Four abdominal segments will be
missing.

(A) 1and3 (B) 2and3

(C) 1and2 (D) only3

AT e TS W Y A @ § 3 A

BT SH o Icaiad &idm &, af 3T

g FrfoTRaa foshrereTe srm=rarsT § |

4 €l et st ?

1. W€ @ | @S arell Th weel §
Ffafr 9afiT @ 3R Q 1 3R @
B E |

2. THIXTEHWEAT |

3. 3 IR GE TR & |

(A) 1373 (B) 233

(C) 13M2 (D) et 3

15 (Life Science)



105.

106.

What could be the possible reason that
prevents the cell adjacent to the progenitor
vulva cell from differentiating into vulva
cell in C. elegans ?

(A) Inability of these cells to bind and |

respond to LIN 3-signalling.

(B) These cells are too far to receive LIN
3 signal.

(C) These cells undergo apoptosis by
receiving signals from hypodermal
cell.

(D) Cells deactivate LIN 3 signal due to
condensed chromatin in the regions
responsive to LIN 3 signal.

. UfoTi § Yt T ShITTERT | | hITTEh

%I W HIWERT H fowfed 8H | b I

GTferd SHIUT R & ThaT & 7

(A) T 3-Rafem (signalling) =t sfer
3R yfafrn @ § 7 Sifvews H
ST |

(B) A IR fof 3 et o o6t @ foTg
TEAE |

(C) I HIfIEHE BIISHA B ¥ Tomer 9w
Lok W (apoptosis) @ljﬂl’?ﬁ% |

(D) =hifStepTd fom 3 Rmer & wfa ScRerR
& U wad shiRfe & wRer o 3
e 1 ffsrr st 2 |

There are signalling centres responsible for
vertebrate limb development. Which of the
following is responsible for specification of
the limb field ?

(A) TGF-B (B) Retinoic acid
(C) Hox (D) FGF

] I foeprE & foru fmtgr feferm
(signalling) g & | fim=feifaa o & =9 @
31 & % Terfeer <6 fore foriere 2 2

(A) STk - (B) Wi e
(C) B (D) TSR

15 (Life Science)
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107.

108.

A mutation in a representative dicot plant
resulted into having floral organs as sepal,
petal, petal sepal. According to ABC model
of flowering which class mutation is
responsible for such class gene of alteration ?
(A) Mutation in B gene

(B) Mutation in A gene

(C) Mutation in A and B

(D) Mutation in C gene

s yfaff fgeermst qY A Iafed &
E [E 9’ .gg{.L ‘lgél “@?\5'

SIE 59 37T & T | g7 sk ABC Hied %

FER B A F IANGd T T S|

TiErd o foTu STReRt ® 2

(A) &t S A Seafad

(B) TSH T IcaiacH

(C) TR & T I

(D) & S H Scafterds

Embryonic development in Drosophila

isan orderly sequence of change and is

controlled by the differential expression of

genes. Which one of the following genes

are egg polarity gene in development of

Drosophila ?

(A) Hox

(B) caudal and hunchback

(C) Gap gene

(D) hedgehog and wingless

SEITheTl § YOT ol foehre aiEdH o1 T
Faeg o B IR W i H fades
rfreatcs gry it femer St & | Sienfteen
% ferepra o ffeiftga o & ik @1 S 37eT
AU S § 7

(A) T

(B) whiget 3R g=eih

(C) T

(D) &R 3R fame



109.

110.

111.

The process by which the cells become

structurally and functionally distinct during |

development is called as

(A) differentiation

(B) determination

(C) specification

(D) both (A) and (C)

g Wfsha ok g hIfTehTd forehre o SR
LT 3TN HRITcHh € F TR &1 St
g ezl

(A) Ty

(B) et

(C) Tafsrsan

(D) (A) 3R (C) gH

Which one of the following comes under
group amniota in Animal Kingdom ?

(A) Birds and mammals

(B) Mammals and reptiles

(C) Reptiles and birds

(D) Mammals, reptile and birds

yroft A § Fefifed § @ w8 @1 T
TR % 3T AR ?

(A) veft 3R T

(B) TER 3R &gy

(C) wlgd R eh

(D) wEr, wigd 37 vaft

Which one of the following is the major

cause of loss in number of migratory birds ?
(A) Urbanization

(B) Loss of habitat

(C) Predation

(D) Overexploitation

114,

P 1 & 9 a1 e e 1 s

T <l T TG HROT R 7
(A) &R

(B) @ &

(C) TR

(D) JAfdere
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112.

113.

For which type of ions, the resting potential
of a biological membrane is close to the
theoretical Nernst potential ?

(A) Ions which are impermeable.
(B) Ions which are permeable.

(C) Ions which are least abundant.
(D) Ions which are most abundant.

for R 35 TR ¥ forw, e S foreel
(membrane) =t fasm amar Sgifas T
T b S B & 7

(A) A WG E |

(B) IS U E |

(C) AN HATTAAHE |

(D) 3T S o8 SR AT E |
N-terminal matrix-targeting sequences are

recognized by which of the following
during Protein targeting to Mitochondria ?

(A) Tim20 and Tim22 proteins
(B) Tim23 and Tim17 proteins
(C) Tom23 and Tom17 proteins
(D) Tom20 and Tom22 proteins

qEAehiigaT ol iedd WEH 6 SR
e Afimm-aefiemr s
feforiaa # & fopereh g UgaM 9 & 2
(A) fem 20 3 fem 22 W
(B) fem 23 st fen 17
(C) <M 23 3 17 I
(D) 21|20 3R M 22 TEH

are sequences that arose

because of speciation for an example the
a-tubulin genes in different species.

(A) Orthologous  (B) Homologous
(C) Paralogous (D) Dendrologous

I R 8 SNl SATfet 3g9aH o hRUT
3IF B 8, 36l o fore fafvr srenfereni &
o- 233’%1’—[ S |
(A) JTRIArE
(C) T

(B) BT
(D) SgieT

15 (Life Science)



115.

116.

117.

Kinetochore microtubule is a mitotic
spindle which attaches to chromosome at
the specific site called kinetochores. The
process by which the spindle fiber gets

attached to the chromosome is known

as
(A) Search and capture
(B) Alignment

(C) Congression

(D) Binding

AR HISShIYS Ueh HIgI(eeh fais

2 W HEIdeE A faRm wme ™

Y T Jed1 & | 98 Uiskar fomes gr

foied BRR HEEH ¥ I I 7, W
& &Y H M1 S 2

(A) 3T<INUT 3T JIEVI(B) TR@YT

(C) A (D) §EF

Cyclins drive the events of the cell cycle by ;
partnering with a family of enzymes called |
the cyclin-dependent kinases (Cdks). Name |

the cyclin which takes part in M phase.

(A) CyclinE (B) Cyclin D

(C) CyclinB (D) Cyclin A
uEfeH-aia  feEE (Cdks) e
USreHl % Uh GRER b WY HEEH Hh
AEfRA HIfTeRT <5k T TS Bt Fefera
FA E | 3T ARl B AW SaE S M
IS § WA e 2 |
(A) TS

(C) Hrfo st

(B) Gt €
(D) HrEfe T

Identify the component which is not a part ;

of lipid bilayer.

(A) Phosphate

(B) Fatty acids

(C) Glycerol

(D) Tryptophan and methionine

3 UeH I TgEE H S foafus ars‘ém

(bilayer) %1 fEEm T& 2 |
(A) HIEHE

(B) i ufte

(C) Tromtia

(D) FoithT 3T Humgat=

15 (Life Science)
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119.

Hsp70 proteins are central components of
the cellular network of molecular
chaperones and folding catalysts. Which of
the following is not the correct cellular
location of Hsp70 protein ?

(A) Mitochondria (B) Nucleus

(C) Golgibodies (D) Chloroplast
TIUH70 TIEH SA0eRh < WH 3R Je
IERH % TAR (cellular) HeTh % Ha

T & | HHfdiad § 9 s 91 w=ugd 70

uﬁzﬁqwaﬁﬁgw (cellular) R T& & ?
(A) HEEERIAT  (B) 5
(C) Tt s (D) TANANL

IF-3 is one of the crucial elements for the

onset of protein synthesis. Given are

several functions of IF-3.

1. It is essential for binding of mRNA to
the 30S subunit.

2. It prevents reassociation of dissociated
30S and 50S subunits

3. It affects the conformation of 30S.

4. It affects the conformation of 50S.

Which one of the following is correct ?

(A) 1and2 (B) 1,2and 4

(C) 1,2and 3 (D) 2and 4

IF-3 WA O9eiNur i IEA o g

HeUl dcdi § | Th & | IF-3 6 %3 i 1QU

TE |

1. 98 mRNA & 30S TeRIHe | a1eH
ToTT 3T & |

2. I8 foafed 308 3R 50S T 6
IS i TehaT § |

3. 9§ 30S I T ol THId HLAT & |

4. 8 508 <! T I THIfd HLAT 2 |

FATREa A S P A TH A ® 7

(A) 132 (B) 1,2 34

(C) 1,233 (D) 234



120.

121.

122.

DNA methylation is a biochemical process
where a DNA base is enzymaticall
methylated at the 5-carbon position. Whic

one of the following is the DNA base

usually gets methylated ?
(A) Adenine (B) Guanine

(C) Thymine D) Cytosine
Sig Th éa—wﬁas iska 8

(B) WM
(D)
Puromycin is an analog of the amino acyl
t-RNA,  which  causes  premature
termination of polypeptide in
(A) Prokaryotes
(B) Eukaryotes
(C) Prokaryotes as well as Eukaryotes
(D) None of these
TR il et &-
T 8, S

mmwm%l
(A)

(B) X
(©) m%w—we@:ﬁeﬁz&

(D) 0 A HIE Tl

Histones are a type of basic protein that

binds to DNA in the nucleus and helps it

condense into chromatin. Which among the

following statement is incorrect ?

(A) Eight histone proteins are present in
histone octamer.

(B) Each octamer contains 3 copies of
each histone protein.

©)

(D)

1 Th

There are five types of histone protein
H1 or H5, H2A, H2B, H3 and H4.
H1 or H5 are linker histones.

ﬁqﬁﬁv:s‘s'ﬁr

TRRSH Uk ST 1 Tl I & S b |

e ) o & 3R @ AR § wata |
R 3 WG 1 B e § 8 AR

FUH AT & 7

(A) Sﬁe%amﬁm%@qmm
|
(B) VI HATFH § Teoieh feeed ek o1 3

it it B

(C) U YR & & WA H1 a1 H5,
H2A, H2B, H3 3T H4 § |

(D) H191H5 foiemt fRm 8 |

123.

124.

People with xeroderma pigmentosum are

extremely sensitive to UV light. This

condition is caused

(A) by mutations affecting the nucleotide
excision repair pathway

(B) by mutation affecting the Base
excision repair pathway
(C) by mutation  affecting  non-

homologous end joining repair
(D) by mutation affecting homologous end
joining repair

SHIeH! formerem aret SrT It Jehret & ufd

Sgc Haesiiel B & | Ig feurfa

IATRA R |

(A) Jgfeeriese TfEeE  (nucleotide
excision) TORR e hl TTfed
Tl SN gRT

(B) o9 Ufags RueR wrud ot guiferd
et IaRerad R

(C) -FHier™ U SighT R W
T Shid STt Icatterad g

(D) BT Ug g R =l yuifad
T T AN g/

Match column I with column II and choose
the correct answer given below

Column I Column II
1. Watson and Crick P. DNA Polymerase I
from E. coli
2. R.W. Holley Q. Decipher genetic
code
3. Marshal Nirenberg ~ R. Double  helix  of
DNA
4. Jacob and Monod S. Clover model of
tRNA
i 5. Kornberg T. Lac operon concept
; ShIcTH | <l Shic 11 & guferd Hifere 3t Fi=
e T e} 3o 1 =R it |
i I e 11
1. 9T SR Thh P, & FIo7g | SITAT Giciie |
2. AT, BIeft Q. ek =hig ol 31 Frehret
3.7t fReFsml R, SIEA o1 gofet gforedl
4.5 ITNAME S, ASTRTAT I FAleR Hig
5. e T. b ST ST
(A) 1-R,2-S,3-P,4-T,5-Q
(B) 1-R,2-S,3-Q,4-T,5-P
(©) 1-R,2-Q,3-P,4-T,5-S
(D) 1-R,2-T,3-S,4-P,5-Q
15 (Life Science)
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125.

126.

127.

How many amino acids would be present
in the Polypeptide chain if translated from
the given mRNA sequence ?

fu T mRNA 31gepH & A & W |

&M ?
5'AUGAGACGGACUGCAUUCCCAAC
CUGA3'

(A) 6 B) 7

© 8 (D) 9

Aminoacyl synthetase plays a critical role
in Protein synthesis. Which among the
following is the correct function of
aminoacyl synthetase ?

(A) Synthesis of RNA primer

(B) Peptide bonds between amino acids
(C) Joins DNA fragments

(D) Activation of amino acid

iR faoes WA e H U
ey sqfte Freme | Pt B & A
1 I fHes H T PR 2 7

(A) ITRTIT (RNA) ITSH ST HIAT0T

(B) I Tftre o o Uwrgs &S (bond)
(C) ST (DNA) Zhe H I B ST 2 |
(D) 3TfHT ufre shi afsharar

The wobble position of a codon refers to

(A) 39 nucleotide in a codon
(B) 1% nucleotide in a codon
(C) 2" nucleotide in a codon

(D) pairing between 2™ nucleotide G with

T of the mRNA
HieT Hl ST (wobble) et @lﬁ

_ wiEeawd g |
(A) T HIE H THU YIS
(B) T hieH H Ugell [FrIeIEs
(C) Teh his H gl (rICTse

(D) TH3TRTAY (mRNA)%BTéﬁFlT?IEgﬁ

JFAARTEE G o o9 I

15 (Life Science)
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128.

129.

130.

Which among the following is/are the
major threats to biodiversity ?

(A) Habitat loss

(B) Overharvesting

(C) Introduced species

(D) All of these

fafafea & @ o8 @/a Se-fafagar &
fore s @/ @ 7/ 7

(A) 3TETE BN (B) 3R hers

(C) focsfueiaa (D) Ameft

All of the following diseases are caused by
bacteria except

(A) Yellow fever (B) Tuberculosis

(C) Plague (D) Cholera
faforiaa o @ weft T Sfiamoi o SReT 8
2, fam

(A) dd SR (B) &I

(C) =i (D) &

Given image shows different patterns of
dispersion, refers to mode of distribution of
organisms within a population.

& T i Here o fafim Yo femrd 2,
AWK & HiaX St o foaqur & alies
Tefid w g |

.
.

3

‘e

Which one of the following shows the
Random dispersion ?

fraforRaa # & @k @1 wrgfeme S g
27

(A) 1

(B) 2

© 3

(D) None of these / T & I3 Tal



131. Given graph shows Predator-Prey interaction
with sediments between Paramecium (Prey) |

and Didinium (Predator).

o T T ARREE (RER) N |

efrm (Rer) & = dowe % 9y
TRreRTlr - f3renm <hY o fepan sl e 2 |

o Predator-Prey interaction with sediment
0 -
= 50
g ——P. Caudatum
= 40 . nasutum
Z
2 301
= 201
g H)-/’>.
() 1 - T — : 1
0 1 2 3 4 5 [¢
Days

What could be concluded from the above

graph ?

(A) The immigration of prey is essential to
eliminate the occurrence of self-

extermination in the predator-prey |

system.
(B) The predator always exterminated the
prey irrespective of prey and predator
population size.
(C) For prolonged time, the Ilow
population size of prey leads to

collapse in predator population.

(D) The intensity of predation has
relatively low influence.

IURRE U & <t frsey fehrett ST oehat 2 7
(A) TR -T3rpr SuTett o 31Tt <t

U1 Bl THH K & fow PR 1

SIS ST 2 |

(B) Tt ghwnm Repr 3 femiEt 6
m%ﬁm%ﬁ@amaﬁwg

S |

(C)ﬁémmﬁm%ma&ﬁ%é
mﬁﬁmﬁaﬁaﬁaﬂaﬁﬁwﬁ

AT |

(D) TRHEI0T < THSIT ol STUETTRd hH T

BATE |
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132.

133.

When a few individuals or a small group
migrate from a main population, they carry
only a small amount of parental gene along
with them. In the small migrant group,
some genes may be absent or occur in such
low frequency that they may be easily lost.
The unique frequency of genes that arise in
population derived from small bands of
colonizers has been called the

(A) Bottleneck effect

(B) Genetic drift

(C) Effect of population size

(D) Founder effect

S %S ARk A Th Bl T T &
AEE T YR Hd 8, d 9 30 I
SRR S T A T € o 9§ | B
TaTE g H, F S AR B Hehd & A
a1 AT H &l Hehd & Tob of A |
Tl T & | HAARSTH 6 B &€ H TH
SIS H 3T B STl S <l 3T 3R
Edl HEIAAZ |

(A) Y99G

(B) STHaR foraed

(C) SERET e TR T JHTE

(D) TR JeTel

Which of the following are inhibitors of
Gibberellin biosynthesis ?

(A) Ancymidol and Quercetin

(B) Ancymidol and Paclobutrozol

(C) Quercetin and Genistein

(D) Paclobutrozol and Quercetin
fforfea o @ @R fefeH Sta-gger &
TR & 7

(A) THIUS 3 FeREeA

(B) UEfHEiet 3R Yaretigersiict
(C) For@feq s Affeea

(D) oA TR TR
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134.

135.

136.

Which one of the following is an example
of an ex-situ conservation strategy ?

(A) Sanctuary
(C) Seed bank

(B) Sacred groves
(D) National park

Pies § 4 9 @ T R G

(ex-situ conservation) TOHIfA T Teh 3T
87

(A) IYIRY
(C) v s

(B) dfer 3ueH
(D) T e

MHC is a tissue-antigen that helps the
immune system to recognise, bind to, and
accept itself. Cytotoxic T-cells are activated
by which of the following class of MHC ?

(A) MHC ClassI (B) MHC Class I

(C) MHC Class I (D) MHC Class IV
MHC T RRI-TESH 2 S 3= Rreen &l
T R, SHE e S S A
Heg AT & | g aTeh i -hIeTehid MHC
o fefetiiga & & fopm anf gru Afsha Bt € 7

(A) THUEE ] (B) THCEE 1
(C) THT=Et s I (D) THT=E & [V

A desmosome forms a very strong spot
weld between cells. It is created by the
linkage of intermediate filaments and

(A) Epithelial tissues

(B) Fibronectin

(C) Cytoplasm

(D) Cadherins

v feaidm B % 9w 9w
oA e e ST § | Fg HeAsd

framice & fofha TR g
SRR |

(A) JUFATHAh  (B) BIEsIHfdA

(C) HEITH (D) e
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137.

138.

Which one of the following is the correct of
Biosynthesis of fatty acid ?

(A) Condensation — Reduction —>
Dehydration — Reduction

(B) Dehydration — Reduction —>
Dehydration — Reduction

(C) Reduction — Dehydration —
Reduction — Dehydration

(D) Reduction — Dehydration —
Condensation — Reduction

Traferfea o @ F @1 e e = w9 Sa-

TEATT B ?

(A) FEFH— Tl —> Tisietiehtor — &t

(B) Fisiefiontor — &t — fisiefieror —
e

C) = — el — =i —
Fstefierton

(D) HHt — FeTefieRtor — T — St

Z-DNA is a form of DNA that has a

different structure from the more common

B-DNA form. It is a left-handed double

helix  wherein the  sugar-phosphate

backbone has a zigzag pattern due to the

alternate stacking of bases. Which one of

the following is correct regarding Z-DNA ?

(A) Syn conformation of purines and
pyrimidines

(B) Anti conformation of purines and
pyrimidines

(C) Anti conformation of pyrimidines and
syn conformation of purines

(D) Anti conformation of purines and syn
conformation of pyrimidines

JAS-SITAT ST T U &9 2 oo 3Aferes
YT S-S B & 3Tl ST 8l 2 |
g T ST 21 o1 gored Bfererd & Fored S8
TSI TfHT o BRI IFR-HIThe SehaH H
Teh FSTTenT U BT § | Sig-2IeAu o Hay |
e i asa T ® 2
(A) A AR RSN & omm
(B) =i 3R o i fomieht o
(C) TR 6t Tt shiemime 3T =lH 6t
& PR
(D) A <t Ut hihiaee 3Rl <
& Bt
(m |



139.

140.

141.

Name the sequence which allows the
resident protein to retain in ER lumen |
during protein targeting. i
39 TN T AW FART S U AefieRtor
% G MHSe T 1 SR G § SATT
TEH ol Al LT R |

(A) KDEL (B) KKXX

(C) KLDE (D) KXXK

Which of the following signalling pathway
is followed by T-lymphocytes in response
to antigenic stimulation?

(A) Paracrine signalling

(B) Autocrine signalling

(C) Juxtacrine signalling

(D) Monocrine signalling

TENIfeh ITieHT o Witk | fmferfiea o &
*H @ famfom ont d-forprezem g
I RS R 7

(A) TTShTS RfeTT

(B) ATeishre Rmfor

(C) STeReTshie fmfem

(D) WHsRREA fmfem

Given are few processes which may be
involved in conversion of proto-oncogene
to oncogene.

1. mutation in coding region

2. mutation in non-coding region

3. chromosome rearrangement

4. gene Amplification

Which one is not appropriate ?

(A) 1only (B) 2and3 i
(C) 3and4 (D) only2
& 3o B § S NA-s A
JAT=RISH H e H IMHA &l Tehe! & | 2
1. ehIfeT & o Icafaad

2. TR-wife &= o IaRaaq

3. TR gASEER

4. SHyaE

S T SUH TE B 7
(A) e |
(C) 334

(B) 233
(D) a2
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142.

143.

Which of the following organs are rich in
mature B and T cells in mammals ?

(A) Liver and Spleen

(B) Liver and Brain

(C) Spleen and lymph nodes

(D) Small and Large intestine

W@l § FeEffed § @ ®F § S

e st 3 Hifenst @ wag § 7

(A) T ST

(B) ¥ 3R AiETsh

(C) weftar 3R forep Aigm

(D) ®It 3R &St 37

Hemagglutinin (HA) is protein found on

the surface of the influenza virus. This long

multimeric molecule has three identical

subunits. Which one of the following is

correct regarding the composition of each

subunit ?

(A) Two polypeptide chains HA1 and HA2

(B) Three polypeptide chains HA1 and
HA2

(C) Only one polypeptide chain of HA2

(D) Only one polypeptide chain of HA1

Hemagglutinin (HA) SIS aRRE <l

Hdg W Ul W a9 W 8 | 39 o
i 3] § i gEe dee § |
fafafed & & =R @1 yok gagfe &
TEH T T B ?

(A) T IHULES & HAT 3T HA2
(B) T aiciiuerse sfaemd HA1 3T HA2
(C) HA2 I hadt Teh Ticiuerse “fae
(D) HAI %l et Teh Ticiuerse Sfae
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144.

145.

cAMP and cGMP are derived from
(A) by ATP and GTP without any
involvement of any enzymes

(B) ATP and GTP by the actions of :
and guanylate ;

adenylate cyclase

cyclase respectively
(C) ATP and GTP by the actions of
guanylate cyclase and adenylate
cyclase respectively
GTP and ATP by the actions of
adenylate cyclase and guanylate
cyclase respectively

owrd sEcieadt I |

(A) TR I S gr fomr fomelt Wt
&1 anfiert &

(B) Tidt 3R St wEw:  ufeAmsere
RIS 3R WHIlE  Hgdels <h
o3t g

(C) Tt 3R SHA shmst: Tiele Argaeist
3R ufergere Trgsets <ht TRt gra

(D) Sddt 3R Tt shas:  ufemseie
RS 3N HIOE  Ogders h
foranati gr

(D)

Glycophorin A is  the  major
sialoglycoprotein of the human erythrocyte
membrane, which has 3 domains composed
of 2 hydrophilic segments which are
separated by a region of amino acids. How
many amino acids are present in this
region ?

(A) 10 amino acids (B) 20 amino acids
(C) 37 amino acids (D) 5 amino acids

TATZHIHING T AT TReETEe fHeett 1 @
RRITETATERMIEE 8, NEH 2 gEgifthicrsh

WS Y o9 3 S & I 3THIAT TS o Ush &
ENT 3o fopU U § | 39 8 U fope sl

g UNE § ?
(A) 1030 efee (B) 20 31 Tfirs
(C) 373nfMitfee (D) 5 3nfi It
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146.

147.

The tertiary structure isthe overall 3D
structure of a globular protein and is
produced by folding the helices and sheets
upon themselves with turns and loops
forming the folds. Among the following
which one is primarily responsible for
stabilization of tertiary structure of globular
protein ?

(A) Ionic bonding

(B) Covalent bonding

(C) Electrostatic attraction

(D) Hydrophobic interaction

TclTereh TEHT Toh TMeTTehR TEH h1 7ol 380

TTEHT B 37N 38 T W Bferem 3 sfieg <t
HicE Heh WIS 3R o S H R SedTied
s g | Feffea s a s g v @
TSR SIEH <l Gefareh T o iRt
o o1 forer 2 7

(A) TS FeH

(B) TEERASTS SEH

(C) SRR AR

(D) ETESIhIferh TREARER{HAT (interaction)

What is the hydrogen bonding pattern in

alpha helices in Protein secondary

structure ?

W fdres T # stew ofer &
BRI Siife<T Je g ?

(A) n to/" n-1 (B) ntoAn+1
(C) ntoMn—-4 (D) ntoAn+4



148. Consider the following steps of beta

oxidation :

1. Activation of fatty acid

2. Elongation cycle of fatty acid via ACP
intermediates

3. Conversion of acetyl -Co A into
Malonyl Co A

4.  Transport of fatty acid in mitochondria
Breakdown of fatty acid in
mitochondria matrix

Which of the following are not involved in

beta oxidation ?

(A) 1,2and3

(B) 2and3

(C) 3,4and5

(D) 3and5

el TRt o T =Tt o formm R

1. % ufte i Afshaan

2. THE HewEd o WIS ¥ %l TS A
& =R

3. THeEA -Co A 1 HAMIA Co A H
YT

4. TSI H hel WS o Uiae

5. TIgehigal Higad H hel UHE o e

149.

150.

When protein degradation is incomplete or
fails to keep pace with the production of
misfolded protein, the misfolded protein or
its proteolytic fragments can accumulate
either inside or outside of cells in
aggregates or filamentous plaques in body
organs causing various diseases. Which of
the following human diseases is
characterized by the presence of such
filamentous plaques ?

(A) Spondylitis

(B) Down’s Syndrome

(C) Albinism

(D) Parkinson’s disease

V& WA I FUES MU Bl § A
firPices WIEH o IcTe o |1 T ST
T 1 & 7, @ FeEwiese TiEH A

3ok Tifeafctiess gene ferfiret T ehreeh vt

% 37 § 9= 1 aqet gohe (filamentous
plaques) | ShIfTEHTAT o 37T AT ST STHT &
Herd @ | FfRad o & M &1 Jme I 39
TE % dqal ghe (filamentous plaques) i

Juferfa < fagyar g ?
(A) wifsemsien () A figm
(C) Ufeafism (D) HTihE™ T

What would the unfolding of regular
secondary protein structure results into ?

(A) No change in the entropy of protein
(B) Increase in the entropy of protein
(C) Decrease in the entropy of protein

(D) Entropy first increases and then

decreases continuously
ﬁwﬁ%ﬁﬁﬁﬁqaﬁamwﬁmﬁa e farfees T T 5 e 3
T e ? TR 1 AT ?
(A) 1,23R3 (A) SEH i T 1 1S eerd 2

(B) Sl it Aty

® 233 (©) S gt B
(©) 3,43K5 (D) gt vaet st & 37 f ermar gedt
(D) 335 2|
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